57

59

60

60

60
60
60
60

60

58

60
60
59

50

50
50
50
51

60
60
60

54

50

50
50
53

10

ol

1{0

Ql

H2 §|.

H2 9.

H2 8.

11

H2 9.

6|9

2

6/ 0

80

810

6P

6p

5B

58

5P
60

q0
q0

60

60
6 2

8p

8P

8p

8p
80

80

g0
g0

8P

8 p
80

50

53
58
55
52

50
53
50

57

59

54
50
53

mqg/ L

L

Ql

D

Ql

L

ol

H2 §|.

)
1

H2 9.

H2 8.

1

11

H2 9.

H2 8.

)
1

H2 9.

32

P 7

35
52

54
48

54
55
53
52

60

b 4

59

6 2
51

28
40

47

45

48
51

50
46

55
59
27

39

4 6

59
55
56

6 2

66

100.

L

0.

Ql

H2 8.

H2 9.

56

79

8
5 5
b 8
5 0

7 5
7 8

b 2

55
5 &
q 2
710

7 5

q2

mg/ L

37
45

51

46
48

55
56
61

71

76
37

58

8 2

/8
3 1

5/8
61

0. 67
76

L

Ql

8|2

H2 8.

100.

1

H2 9.
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mg/ L

H27(. 4 D . 47 0.BO

5 0.40 D. 15 0

6/ 0. 47 0. 29 0

71 0.55 D. 41 0

8 0. 43 D. 33 0

99 0.51 D. 38 0

1100. 54 0. 47 0.

11 0. 57 0.52 0.

1p 0. 57 0. 45 0.

H28[. 1 D. 66 0.p3

2l 0.67 D. 54 0

3] 0.66 D. 58 0

0. 67 0.15 0.

H27(. 4 D. 57 0.p4

5 0.56 D. 33 0

6/ 0.65 D. 46 0

7/ 0.71 D. 54 0

8 0.55 D. 46 0

9 0.60 D. 51 0

1100. 6|1 0.56 0.

11 0. 69 0.59 0
1p 0.|71 0.51

H28[. 1 D. 58 0.p9

2l 0.52 D. 39 0

3] 0.51 D. 45 0

0. 71 0. 33 0.

H27(. 4 0. 77 0.2

5 0.79 D. 68 0

6/ 0.80 D. 75 0

71 0.85 D. 78 0

8 0.82 0. 77 0

9 0. 83 0.78 0.

L D . 82 0.76 0
11 0./86 0.73
1p 0./82 0. 75

H28[. 1 D. 85 0.7

2/ 0.83 D. 76 0

3] 0.84 D. 76 0

0. 8|6 0.68 0.

H27(. 4 D. 60 0.p8

5 0.57 D. 40 0

6/ 0.58 D. 36 0

7/ 0.57 D. 38 0

8 0.56 D. 25 0

9 0.52 D. 40 0

L . 54 0. 44 0
1L 0./56 0. 47
1p 0.\66 0.55

H28[. 1 D. 74 0.p6

2l 0.509 D. 52 0

3] 0.56 D. 52 0

0. 74 0.25 0

- 409 -

0 .|40 H27[. 4 D. 54 0.B3
. R8 5 0. 43 D. 14
1 6/ 0.57 D. 35
. B8 71 0.65 D. 40
. B7 8 0. 48 D. 36
. A5 90 0. 5/4 0. 42
8| ( L @ . 53 0. 36
85 11 0./53 0. 37
51 1p 0./56 0. 43
0 .|57 H28[. 1 D. 54 0.p2
. B2 2l 0.50 D. 38
. B4 3] 0. 47 D. 32
48 0. 6|5 0.14
0 .|52 H27(. 4 D. 64 0.p3
. A6 5 0.55 D. 34
. P77 6/ 0.87 D. 28
. p1 7/ 0. 45 D. 30
. p1 8 0. 42 D. 29
. p7 9 0. 45 D. 32
58| ( L . 49 0. 41
q3 1L 0./57 0. 48
6P 1p 0./61 0.514
0 .|53 H28[. 1 0. 71 0.p8
. B8 2l 0.71 D. 60
. B8 3] 0.65 D. 509
85 0. 71 0.28
0 .|7 4 H27[. 4 D. 75 0.pb9
|74 5 0.69 D. 55
|77 6/ 0.55 D. 41
. BO 71 0.68 D . 47
. B0 8 0.62 D. 53
g1 9 0.66 D. 58
18] ( L D . 6/8 0.62
8p 11 o0.|77 0. 68
7P 1p 0./80 0.74
0 .|8 2 H28[. 1 D. 80 0.2
. B0 2 0.y7 D. 69
.79 3] 0.74 D. 69
19 0. 80 0.41
0.53
.49
.49
.49
.44
. 46
51
. 52
.61
0.66
. 57
. 54
. 583

o O oo

O OO oo

. 46

.47

.58

. 65

72



3 KK OKEHAE
(8] JEAKE = EFEN
(2) B R OIE R
O _E3KE (B RiE K

- MO K - A SEFAI R AR IR G %)

24 7K A H H H28.4.5 @ H28.5.9 | H28.6.7 @ H28.7.5 | H28.8.1
PN iz 55l N 5§l = 5
& S (©) 9.5 18.3 19.0 22.0 31.0
7k 15 (C) 11.2 17.3 18.0 21.0 25.3
— 154 gk ({8 /mL) 0 0 0 0 0
X % (MPN/100mL) 0 0 0 0 0
H KRIvAkOZTONEY (mg/L) — | <0.0003 — — <0. 0003
KR K O F O b A& W (mg/L) — | <0.00005 — — | <0.00005
t L v kX ZE O AEWY (mg/L) — <0. 001 — — <0. 001
m k O F o & W (mg/L) — <0. 001 — — <0. 001
t # Kk Y F O b A W (mg/L) — <0. 001 — — <0. 001
Nofio o v s b A W (mg/L) — <0. 005 — — <0. 005
i fid 1S HE = = (mg/L) — <0. 004 — — <0. 004
T MM A v RNk T v (mg/L) — <0. 001 — — <0. 001
W ERZNOEMBRERE (mg/L) — 0.83 — — 0.82
7 v F Kk O E O & W (mg/L) — 0.11 — — 0. 09
r v F L O EF 0 E W (mg/L) — 0.01 — — 0. 02
| #H 1t R F# (mg/L) — | <0.0001 — — <0.0001
1, 4- % 7 e va N (mg/L) — <0. 001 — — <0. 001
vA-1,2-Y /eI Ly KR
N A-L2-Y /ra T L (mg/L) —| <0.0002 — —| <0.0002
Y = = 2o (mg/L) — <0.0001 — — <0.0001
S r 5 Z v owm x F L v (mg/L) — <0.0001 — — <0.0001
kY ¥ momr = F L o (mg/L) — <0.0001 — — <0.0001
~ N + N (mg/L) — <0.0001 — — <0.0001
ey 3 [ (mg/L) — <0. 06 — — 0. 08
Vi =t = HiE [ (mg/L) — <0. 002 — — <0. 002
4 = = N I N (mg/L) — 0.014 — — 0.011
v 4 = = (3 i (mg/L) — 0. 006 — — 0. 004
Y 7 v % 7 u na A K v (mg/L) —| 0.0005 — — | 0.0009
= S [ (mg/L) — <0. 001 — — <0.001
BN U N m A X (mg/L) — 0.018 — — 0.016
k ) 7 = =S (A (mg/L) — 0.011 — — 0. 008
=T S A = = S S (mg/L) —| 0.0035 — —|0.0041
va = £ i I N (mg/L) — <0.0001 — — <0.0001
A v AN 7 L F b K (mg/L) — 0. 003 — — 0. 003
wmo k™ o kAW (mg/L) — <0. 005 — — <0. 005
TNLVI=2gAKEOZOREY (mg/L) — 0.03 - - 0.02
% K O Fx o f{ & W (mg/L) — <0.01 — — <0. 01
g K O F o kA W (mg/L) — <0.01 — — <0.01
FT PV U LAKEOEZEDOIREDY (mg/L) — 8.1 — — 8.8
<~ v H kRN EOIWEW (mg/L) — <0. 005 — — <0. 005
H (4 W A 7 N (mg/L) 9.8 9.0 10 11 8.3
NV T, TR NEGEE) (mg/L) — 55 — — 64
7K s J53 Eé? W] (mg/L) — 106 — — 123
= 4 4 v /A om 3w A (mg/L) — <0.01 — — <0. 01
v - 7 3 N N (mg/L) | 0.000002 | 0.000002 | 0.000001 = 0.000001 | 0.000001
- A F A4 VKL R F — L (mg/L) | <0.000001 0.000001 | <0.000001| <0.000001 <0.000001
FE 4 0 v K om W M A (mg/L) — <0. 005 — — <0. 005
7 - J — L $A (mg/L) —|  <0.0005 — —|  <0.0005
H#Y (&AM xR E (T0C) O &) (mg/L) 0.6 0.6 0.5 0.4 0.4
p H i 7.4 7.4 7.4 7.5 7.4
S Bl | BEaL ) BEAL | BEaL | BEWAeL
= = HEhL | BE2L BEAelL | BEELRL | BEAL
&) 3 i3 0.5 <0.5 0.5 0.5 0.5
) i3 (B£) 0.1 €0. 1 0.1 0.1 0.1
153 %’ ey e (mg/L) 0.6 0.6 0.5 0.6 0.7
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128.9.6 | H28.10.4 H28.11.7 | H28.12.6 | H29.1.11 @ H29.2.6 | H29.3.7 [N e/l St
% Ei i & % I = -
30.0 26.0 14.3 18.0 11.0 16.0 14.0 31.0 9.5 19.1
22.0 21.0 18.1 13.5 9.0 12.8 9.0 25.3 9.0 16.5
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
— <0. 0003 —| <0.0003 —|  <0.0003  <0.0003]  <0.0003
— —| <0.00005 — — | <0.00005 —| <0.00005 <0.00005 <0.00005
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
— — <0. 004 — — <0. 004 — <0. 004 <0. 004 <0. 004
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — 1.0 — — 0.98 — 1.0 0.82 0.91
— — <0.08 — — 0.08 — 0.11 <0. 08 <0. 08
— — 0.01 — — 0.01 — 0.02 0.01 0.01
— —|  <0.0001 — — | <0.0001 —| <0.0001  <0.0001  <0.0001
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— —|  <0.0002 — —| <0.0002 —|  <0.0002  <0.0002|  <0.0002
— —|  <0.0001 — — | <0.0001 —| <0.0001  <0.0001  <0.0001
— —|  <0.0001 — — | <0.0001 —| <0.0001  <0.0001  <0.0001
— —|  <0.0001 — — | <0.0001 —| <0.0001  <0.0001  <0.0001
— —|  <0.0001 — — | <0.0001 —|  <0.0001 <0.0001  <0.0001
— — 0.07 — — <0. 06 — 0.08 <0. 06 <0. 06
— — <0. 002 — — <0. 002 — <0. 002 <0. 002 <0. 002
— —| 0.0076 — — | 0.0046 — 0.014 0. 0046 0. 0093
— — 0. 003 — — 0. 004 — 0. 006 0. 003 0. 004
— —| 0.0009 — — | 0.0007 —| 0.0009 0. 0005 0. 0008
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — 0.012 — — | 0.0078 — 0.018 0.0078 0.013
— — 0. 006 — — 0. 005 — 0.011 0. 005 0. 008
— —| 0.0034 — — | 0.0025 —| 0.0041 0. 0025 0. 0034
— —|  <0.0001 — — | <0.0001 —| <0.0001 <0.0001  <0.0001
— — <0. 002 — — <0. 002 — 0. 003 <0. 002 <0. 002
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
— — 0. 02 — — 0.02 — 0.03 0.02 0.02
— — <0.01 — — <0.01 — <0.01 <0. 01 <0.01
— — <0.01 — — <0.01 — <0.01 <0. 01 <0.01
— — 8.2 — — 8.4 — 8.8 8.1 8.4
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
9.7 8.4 7.4 7.8 8.9 7.6 8.4 11 7.4 8.9
— — 64 — — 63 — 64 55 62
— — 119 — — 123 — 123 106 118
— — <0.01 — — <0.01 — <0.01 <0. 01 <0.01
<0. 000001, <0.000001 0.000002 | 0.000002 = 0.000002 | 0.000001 | 0.000001 | 0.000002 | <0.000001 0.000001
<0.000001| <0.000001 <0.000001| <0. 000001 <0.000001 <0.000001| <0.000001| 0.000001 | <0.000001 <0.000001
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
— —|  <0.0005 — — | <0.0005 —|  <0.0005  <0.0005  <0.0005
0.5 0.3 0. 4 0.4 0.4 0.4 0. 4 0.6 0.3 0.4
7.4 7.4 7.4 7.4 7.2 7.5 7.5 7.5 7.2 7.4
Bl | BEaL ) BEAL | BEAaL ) BEAaL ) BEALL | BAWARL — — HEL
Bl | BEaL ) BEAL | BEAoL ) BEWAaL ) BEALL | BAWARL HBERL
0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 0.5 <0.5
<0. 1 0.1 <0. 1 <0. 1 <0.1 0.1 <0. 1 <0. 1 <0. 1 0.1
0.6 0.7 0.6 0.7 0.7 0.6 0.7 0.7 0.5 0.6
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3 KK OKEHAE
(8] JEAKE = EFEN
(2) B R OIE R
O _E3KE (B RiE K

- MO K - A SEFAI R AR IR G %)

24 7K A H H H28.4.5 @ H28.5.9 | H28.6.7 @ H28.7.5 | H28.8.1
T rrFEUCELREOARLAY (mg/L) — | <0.0003 — — <0. 0003
7 7 v k™ E oA W (mg/L) — | <0.0002 — —| <0.0002
= v NV EOrE O AEY (mg/L) — <0. 001 — — <0. 001
L2- ¥ /7 m wvw xT X v (mg/L) — <0.0001 — — <0. 0001
~ I - N (mg/L) — <0.0001 — —| 0.0001
TRV (- F L~F L) (mg/L) — <0. 001 — — <0. 001
i iy = " (mg/L) — <0. 06 — — 0. 06
Y s v w7 kv =1V (mg/L) — 0. 002 — — 0. 001
ook 7 = 5 — (mg/L) — 0.010 — — 0. 006
2 3 ¥ — <0. 001 — — 0. 005
il Hfe R i3 (mg/L) — 2.9 — — 2.4
LL1I- Y 7 vwow x X v (mg/L) — <0.0001 — — <0. 0001
A F L -t- 7 F )L = — F )L (MTBE) (mg/L) — <0.0001 — — <0.0001
B OS5 M E (T O N ) <1 <1 <1 <1 <1
B A (Z 45U 7 %) — -1.4 — — -1.2
B & 5 = A (f# /mL) 0 0 0 0 0
LI- ¥ 7 v mr = F L v (mg/L) — <0.0001 — — <0.0001
23 = s A il (MPN/100mL) — — — — —
£ Wb B EE R & (mg/L) — — — — —
b 17 [ 3 (mg/L) — — — — —
v = v P e (MPN/L) - - - - -
I = 3 2 iful (MPN/L) — — — — —
X W B (MPN/100mL) 0 0 0 0 0
#E fE Mk # fH Bk (MPN/100mL) — — — — —
7 v ¥ = T R £ #H (mg/L) — — — — —
7 % > 7 VA (mg/L) — 15 — — 18
~ 7 kS > v A (mg/L) — 4.3 — — 4.9
fifi [ A 7 N (mg/L) — 18 — — 27
kU »~ 8 X Z v A Ok fE (mg/L) — — — — —
b 7 JL 7 D) i (mg/L) — 37 — — 40
o = & 8 R (mS/m) 16.0 15.6 16. 6 17.9 18.1
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H28.9.6 = H28.10.4  H28.11.7 | H28.12.6 | H29.1.11 | H29.2.6 H29.3.7 K /) S

— — <0. 0003 — — <0. 0003 — <0. 0003 <0. 0003 <0. 0003
— — <0. 0002 — — <0. 0002 — <0. 0002 <0. 0002 <0. 0002
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
— — <0. 0001 — — <0. 0001 — 0. 0001 <0. 0001 <0. 0001
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 06 — — <0. 06 — <0. 06 <0. 06 <0. 06
— — 0. 001 — — <0.001 — 0. 002 <0. 001 0.001
— — 0. 003 — — 0. 003 — 0.010 0. 003 0. 006
— — 0. 002 — — <0. 001 — 0. 005 <0. 001 0. 002
— — 2.6 — — 2.2 — 2.9 2.2 2.5
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
— — -1.2 — — 1.2 — -1.2 -1.4 -1.3
0 0 0 0 0 0 0 0 0 0
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
0 0 0 0 0 0 0 0 0 0
— — 17 — — 17 — 18 15 17
— — 5.0 — — 5.1 — 5.1 4.3 4.8
— — 21 — — 19 — 27 18 21
— — 44 — — 46 — 46 37 42

13.2 13.8 17.4 16.8 16.4 17.2 17.7 18.1 13.2 16. 4
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3 faKtEOKERA
(8] JEAKEEEFEN
(2) BYEZ KR OHERA

@O EIKE (BT KS - AR R K - S

FEAR R SR G %)

£ 7K A A H H28.5.9 | H28.8.1 | H28.11.7  H29.2.6 iSON B/ ey
L3-Y s wow7° 5A” v (DD (mg/L)| <0.0002 <0.0002 <0.0002| <0.0002] <0.0002 <0.0002  <0.0002
2,2-DPAC % 5 K v ) (mg/L)| <0.0002 0.0004 @ 0.0002 <0.0002] 0.0004  <0.0002  <0.0002
2,4-D (2, 4-PA) (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
EPN (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
MCPA (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 D4 o 7 2 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 + 7 - — L (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 k 7 D4 > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 = = & 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 3 ~ 7 2 (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
7 7 V4 = — JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 vV % % F  F v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
4 Y 7 = v & Z (mg/L)| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4 YV 7 v JH o 7 MIPC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4V 7 m F F 5 v (IPT) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 7 m N & A (IBP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
S4 v X 7 7 7 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
= 2 7 v H A 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= ¥ 4 7 = v & % (EDDP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
= 7 = v 7 v oy 7 A (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
T RYDTY— (= ra A —)) (mg/L)| <0.00001| <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
TURALT 7 (R EY) (mg/L)| <0.0001  <0.0001  <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
F x b ¥y wm A &K » (mg/L)| <0.0001] <0.0001 <0.0001  <0.0001| <0.0001| <0.0001  <0.0001
F % 2 v # (FH K 81 ) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A U A2 b wm B (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Vi =z VA ) 2 (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
B 7 = v A k m — JL (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
b A )] b (NAC) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
/Y VR A = A R (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
il JL N 7 7 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
X /J 7 5 I »  (ACN) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
¥ ¥ VA b > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 2 I = v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7y w A 7 v v 7 (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 m ) = kv 7 = » (CNP) (mg/L)| <0.00001 <0.00001 <0.00001/ <0.00001| <0.00001 <0.00001 <0.00001
y wm g U R Z (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
7 m wm % m = )L (TPN) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
Vs 7 7 D4 > (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
> 7 7 & A (CYAP) (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v 7 =4 N (DCMU)  (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
v 7 m X = 2 (OBN) (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 v A K Z  (DDVP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
ALK B FAFF A ) (mg/L)| <0.00001] <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A % = JL (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
v R oy 77 F b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
o < v N (CAT) (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A 2R F U (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
v A k Ea — F (mg/L)|[ <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
D A k Y ¥ (mg/L)| <0.0001/ <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y A EF L — b (mg/L)] <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A 7 ¥ J > (mg/L)| <0.00001| <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
s A N =4 > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
¥ 7 v = JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
¥ 7 7 2 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F 2 P4 Vi JL 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
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F F 7 7 F — b A F L (mg/L)]| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F A N v H o 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F v 7 A v 7 (MBPMC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
& Y 4 = v b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
b U 7 wm v A& > (DEP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
YUY 75 Y — b (mg/L)| <€0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
U 7 v F U v (mg/L)| <€0.0001  <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
+ 7 5: a N F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
= ~2 = = Z (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v Y % v 7 = v (mg/L)] €0.00001] <0.00001 <0.00001] <0.00001f <0.00001 <0.00001 <0.00001
IV U x—F(EF Y L—F) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
vy ¥ 7 = v F F v (mg/L)]| €0.00001] <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
vy 7 F H A F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
=5 = * = > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 4 7 o = /v (mg/L)|<0.000005 <0.000005 <0.000005|<0.000005}<0. 000005 <0. 000005 <0. 000005
7 = = bk v F F > (MEP) (mg/L)[ <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 = /) 7 5 Jv 7 (BPMC) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 = ¥ F F >  (MPP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = ¥ bk = — I (PAP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
7 = v b F ¥ I F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 P 7 A F (mg/L)|[ <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 i v = — v (mg/L)[ <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
7 vl 2 2D Z (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 7 w7 = ¥ v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
7 N T v + 2 (mg/L)|  <0.0001  <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
7 v F T 7 v — b (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
7 o D 2 R > (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = Ea F 2 Z (mg/L)| <€0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 o\ ¥ =2 F Y — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 o = A I F (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001f <0.0001 <0.0001 _ <0.0001
7 o N F Y — b (mg/L)[ <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = o 7 F F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ J 2 Jb (mg/L)| <0.0002  <0.0002] <0.0002] <0.0002] <0.0002 <0.0002 <0.0002
~ N D2 7 = > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
N v Y v vy wm v (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
~N v Y 7 = F v 7 (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001[ <0.00001 <0.00001 <0.00001
~ N Vi v > (mg/L)| <0.0001] <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ v F 4 X Z U v (mg/L)| <0.0001 <0.0001  <0.0001| <0.0001 <0.0001 <0.0001  <0.0001
N v 7 7 (mg/L)| <0.0001] <0.0001  <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
N 7T Y v (NARa Y ) (mg/L)] <0.0001  <0.0001  <0.0001] <0.0001f <0.0001 <0.0001  <0.0001
N v 7 L+ — b (mg/L)| <£0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
A X F 7 ¥ — b (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
~ 53 F 4 v (= F Y v ) (mg/L)]| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A = 7 vy 7 (MCPP) (mg/L)[ <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
A v N Jb (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001]| <0.0001 <0.0001 <0.0001
A v 7 * > b (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001[ <0.0001 <0.0001| <0.0001
A F K F A&~ (DMIP) (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
A F L F A4 i v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
A 2 / A2 b m B » (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001[ <0.0001 <0.0001  <0.0001
A N ) 7 Y > (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A 7 = F & v b (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
A 7 = = v (mg/L)|[ <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
£ ) X — b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
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EPN 7 ¥ M > (mg/L)| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4 Y % H F F o F % YV v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
A4 YV 7 = & A F F YV (mg/L)[<0.000005 <0.000005 <0.000005| <0.000005(<0. 000005 <0.000005|<0. 000005
= v K 2 o 7 = — bk (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
CNP- 7 2 J & (mg/L) [<0.000001|<0. 000001 <0. 000001 <0. 000001|<0. 000001 <0. 000001 <0. 000001
7w v U R A A F VY v (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
¥ A4 T ¥ v A ¥ YV » (mg/L)| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 = bruaFF A F Y (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
MPP 2 L &R F 3 R (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP A JL 7 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
MPP 7 ¥ V] > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
MPP F &% ¥V v Z L & % 2 F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP #+ % YV v Z b & ¥ (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 % I &K A2 F F vV v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v & 7 F K F 7 v F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
~ 5 F 4 v F % v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v x X ZF F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 I X 7 wvw 7 U F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F 7 a  F Y — L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
=4 Z 7 =t i 2 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001  <0.0001 <0.0001
7 L Z2 A 7 7 I F (mg/L)| <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001 <0.00001
va = < D JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ v b F B Y v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
gz va =4 v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A 5 7 v — L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001f <0.0001 <0.0001 <0.0001
7 X vV 5 L -5 X F L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 A b ) v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A4 F X T 4 F (mg/L)| <0.0001 <0.0001] <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
4 ~ Y %2 a7 v v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 = =@ F Y — P (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= F ¥ ¥ A o 7 w v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
-z + X H = F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F X ¥ 7 A F 4 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 ¥ VA 2 JL (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
X ¥ v &Kk v F = F b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
y w  F 7 = ¥ v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 w < 7 = J ¥ K (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
J a gL Z — )Y A F L (ICTP) (mg/L)| <0.0001  <0.0001 <0.0001] <0.0001f <0.0001 <0.0001 <0.0001
7 m ) B U &K X A F o (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
Y 7 v 7 = v F F v (ECP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
D 7 =t A ¥ v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 v A 7 v vy 7 (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
v ) Z ) 7 wm v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
v J 7 7 7 > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
Y 7 = J = F YV — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 g X v X um v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
v 7 m a2 F Y — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
D - =4 v = JU (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001f <0.0001 <0.0001 <0.0001
v A =z Y — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
Y A F A ¥ r & R (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
v 5 7 g F 7 = v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
% N A ¥ ) > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
F v 2 v 7 J R (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
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F 7 A % B A (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
¥ 4 I a 3 F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F hF 7 v R & (CWP) (mg/L)| <0.0001| <0.0001 <0.0001  <0.0001| <0.0001| <0.0001  <0.0001
F ~ 5 a2 F ¥ — L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> 7 7 = ) ¥ K (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
FU % FH %y 7 = F L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
KU 7 o I Y — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> 75 w7 = F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= a N =4 5 2 (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
Ny ow 7k 5 Y — b o(mg/L)| <0.0001  <0.0001 <€0.0001 <0.0001] <0.0001 <0.0001  <0.0001
=4 A N =4 D v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
5 Y 2 7 m x Foo(mg/L)| <0.0001  <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
vy I Ny 7 A F A (mg/L)| <0.0001 <0.0001| <0.0001  <0.0001| <0.0001| <0.0001  <0.0001
U X Rk A2 A F L (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
- 7 A b = JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 7 ¥ R v 7 (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 w2 = J  (DCPA) (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
A = 2% & 2 (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 m % L ¥ vk (BPPS) (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
7 v R F A (PHO) (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
-7 = A b ) v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
N X A4 F v T (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
N * D% 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
R 2 # ) F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
£ /7 o P& & (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
DI = a = > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 Y % ¥ 2 F v v r (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
4 A = D% 7 v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Vi = =4 kS 7 (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
> a o =t v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F = A 7 wm  — JL (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
kv 7 v &K X2 X F b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
N m AR b 7 1w v A F L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
v 7 = ) v 7 A (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
vy 7 r % ¥ 7 = v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 5 ¥ =z g 7 v r (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 b S 5 = JL (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
~ vz ) K (SAP) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001  <0.0001
N v A 7 vm v A F L (mg/L)] <0.0001  <0.0001  <€0.0001 <0.0001] <0.0001 <0.0001  <0.0001
R + A JL (mg/L)| <0.0002  <0.0002| <0.0002| <0.0002| <0.0002 <0.0002  <0.0002
ML Z ok 2 AFLAXY 2 (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F * 4 ¥ 7 Y v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v A b ¥ ¥ = J (mg/L)| <0.0001 <0.0001 <0.0001/ <0.0001| <0.0001 <0.0001 <0.0001
Ny ZoEenr-2-7 % =F (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= + w 7 = ¥ (NIP) (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
A = % D% > (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
- 4 b E VU % — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
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3 fAKREOKE M
(8] JEANKEEEIEN
(2) BYEZE M Ol A
@ Kl (RII#AKY %)

£ 7K 4 A H H28.4.4  H28.5.11 H28.6.14 H28.7.4  H28.8.3
PN {22 i 5 & i =
& A (C) 16.9 22.0 24.5 29. 1 27.2
7K i (©) 12.7 17.0 18.7 20.0 22.6
— 5 A ({8 /mL) 0 0 0 0 0
N W (MPN/100mL) 0 0 0 0 0
HRKRITLAERNEDILEWY (mg/L) — — <0.0003 — —
KB K Y F O b A W (mg/L) — —  <0.00005 - -
t v v Kk X EFE O AW (mg/L) — — <0. 001 — —
m kK W F o b & W (mg/L) — — 0.001 — —
E EF kK X 2 o b A& W (mg/L) — — <0. 001 — —
AN O 7 v A b A& W (mg/L) — — <0. 005 — -
i) fiFd 3 e = * (mg/L) — — <0. 004 — —
T A A F U RO ALY T v (mg/L) — — <0. 001 — —
HBEEZEKOCEWEBRREZE R (mg/L) — — 0. 66 — —
7 v F K XN ZE 0 LA W (mg/L) — — 0. 08 — —
r v EF R O EF 0 AE WY (mg/L) — — 0. 01 — —
] #H 1t K F# (mg/L) — — <0.0001 - —
1, 4- ¥ 7 X VA N (mg/L) — — <0. 001 — —
ALYy ZonxTF L KON
N7 v A-1,2-Y /7 ruaxTF L (mg/L) — — <0. 0002 — —
Y7 = = A A N (mg/L) — —  <0.0001 — -
> N5 / v mrR = F L v (mg/L) — —  <0.0001 — —
YU V v owr = F L v (mg/L) — — <0. 0001 — —
~ N + N (mg/L) — — <0.0001 — —
¥ %= [ (mg/L) <0. 06 <0. 06 <0. 06 <0. 06 <0. 06
7 = = L2 P (mg/L) — — <0. 002 — —
7 o = 7R JV N (mg/L) — — 0.013 — —
% 7 = = K 7S (mg/L) — — 0. 005 — —
Y 7 n E J mou XK v (mg/L) — — 0.0001 — —
B F# P (mg/L) — — <0. 001 — —
S N VAN = B S A (mg/L) — — 0.015 — —
~ ) 7 = o EE g (mg/L) — — 0.010 — —
7 nm £ Y 7 v ona A H v (mg/L) — — 0.0017 — —
- = S A JL A (mg/L) — —  <0.0001 — —
A A A 7 v F b K (mg/L) — — <0. 002 — —
m é X O 2 o b & ® (mg/L) — — <0. 005 — —
TNHNI=U LRV Z0EY (mg/L) — — 0. 01 — —
% K O 2 o b A W (mg/L) — — <0.01 - -
i O R N -/ (mg/L) — — <0. 01 — —
FT U T AR DTEONAED (mg/L) — — 4.3 — —
~ v kY E O E WY (mg/L) — — <0. 005 — —
bicy 1t L) 4 7 N (mg/L) 3.0 3.1 3.1 3.2 3.3
BV TN, TR N () (mg/L) — - 35 — —
7K S J53 M W (mg/L) — — 70 — —
= A4 4+ v R om i O A (mg/L) — — 0. 01 — —
v = *+ 2 2 v (mg/L) — — — — _
2- A F L A4 VKR IV R A — )b (mg/L) — — — — —
¥ 4 F v K om EF M A (mg/L) — — <0. 005 — —
7 - J — I HH (mg/L) — —  <0.0005 — —
H¥Y (42 FHKFE(T0C) © & (mg/L) 0.3 0.4 0.6 0.4 0.3
p H it 7.8 7.9 7.9 7.9 7.9
IS HeEhlL RBELRL O RBERL OBEARL BEALL
5 B BERL BEAaL BEeL BEWAeL BEEhLL
&) B i3 <0.5 <0.5 0.6 <0.5 <0.5
b Ji3 () <0.1 <0.1 <0.1 <0.1 <0.1
V5 2 H = (mg/L) 0.5 0.4 0.5 0.6 0.6
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H28.9.26 H28.10.3 H28.11.9 H28.12.13 H29.1.10 H29.2.15 H29.3.14 TN B/ S
& & 5] & i fii& 5] — —
27.1 25. 1 10.8 10. 1 9.1 6.0 8.5 29. 1 6.0 .0
20.5 19.9 14.8 10.8 7.5 7.9 9.3 22.6 7.5 1
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
<0. 0003 — —  <0.0003 — <0.0003] <0.0003  <0.0003  <0.0003
<0. 00005 — — <0.00005 — — <0.00005| <0.00005 <0.00005 <0.00005
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
0. 002 — — <0. 001 — — <0. 001 0. 002 <0. 001 <0. 001
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
<0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005
<0. 004 — — <0. 004 — — <0. 004 <0. 004 <0. 004 <0. 004
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
1.1 — — 0. 62 — — 0.57 1.1 0.57 0.74
<0. 08 — — <0. 08 — — <0. 08 <0. 08 0. 08 <0. 08
0. 01 — — <0.01 — — 0.01 0.01 <0. 01 <0. 01
<0. 0001 — —  <0.0001 — — <0.0001] <0.0001  <0.0001  <0.0001
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
<0. 0002 — —  <0.0002 — — <0.0002] <0.0002  <0.0002  <0.0002
<0. 0001 — —  <0.0001 — — <0.0001] <0.0001  <0.0001  <0.0001
<0. 0001 — —  <0.0001 — — <0.0001] <0.0001  <0.0001  <0.0001
<0. 0001 — —  <0.0001 — — <0.0001] <0.0001  <0.0001  <0.0001
<0. 0001 — — <0.0001 — — <0.0001] <0.0001  <0.0001  <0.0001
0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 0. 06 0. 06 <0. 06
<0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
0. 0061 — — 0.0054 — — 0.0089 0.013 0. 0054 0. 0084
0. 003 — — <0. 002 — — 0. 005 0. 005 <0. 002 0. 003
0. 0002 — — 0.0001 — — <0.0001]  0.0002 <0.0001  0.0001
<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
0. 0080 — — 0.0067 — — 0.0097 0.015 0. 0067 0.010
0. 004 — — 0. 004 — — 0. 006 0.010 0. 004 0. 006
0.0016 — — 0.0013 — — 0.0008 0.0017 0. 0008 0.0014
<0. 0001 — —  <0.0001 — — <0.0001] <0.0001  <0.0001  <0.0001
<0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002 <0. 002
0. 005 — — <0. 005 — — <0. 005 0. 005 <0. 005 <0. 005
<0. 01 — — <0.01 — — <0.01 <0. 01 0. 01 0. 01
0. 01 — — 0. 01 — — 0. 02 0. 02 0. 01 <0. 01
<0. 01 — — <0. 01 — — <0. 01 <0. 01 <0. 01 <0. 01
5.2 — — 4.2 — — 4.6 5.2 4.2 4.6
<0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005
3.3 3.2 3.2 3.1 3.0 3.1 3.2 3.3 3.0 3.2
50 — — 33 — — 38 50 33 39
87 — — 65 — — 68 87 65 73
0. 01 — — <0. 01 — — <0. 01 <0. 01 0. 01 <0. 01
<0. 000001 — — — — — — — — <0.000001
<0. 000001 — — — — — — — — <0.000001
<0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005
<0. 0005 — —  <0.0005 — — <0.0005] <0.0005  <0.0005  <0.0005
0.4 0.2 0.3 0.3 0.5 0.3 0.3 0.6 0.2 0.4
7.6 7.6 7.8 7.8 7.7 7.9 8.0 8.0 7.6 7.8
BEmL  BEZL OBYRL O BERL HELL EERL BERL — — HERL
HBypaL BEZ2L OBE¥ARL O BEAL BEAhL EEARL O REEAQL — Bl
<0.5 0.5 0.5 <0.5 0.5 0.5 <0.5 0.6 <0.5 0.5
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 0.1 0.1 0. 1 0. 1 0.1
0.5 0.5 0.5 0.5 0.5 0.5 0.4 0.6 0.4 0.5
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3 fAKREOKE M
(8] JEANKEEEIEN
(2) BYEZE M Ol A
@ Kl (RII#AKY %)

£ 7K A A H H28.4.4  H28.5.11 H28.6.14 H28.7.4  H28.8.3
T F R RE OALE W (mg/L) — —  <0.0003 — —
v 7 v k™ E O/ E W (mg/L) — — <0.0002 — —
= v F Lk NEFDOIEWY (mg/L) — — <0. 001 — —
L,2- ¥ 7 wmw wu == X v (mg/L) — —  <0.0001 — -
N JL - N (mg/L) — —  <0.0001 — —
THENLEEY (- F N F L) (mg/L) — — — — —
iy bicy ES fi (mg/L) — — 0. 06 — —
s v w7 kv = F1U (mg/L) — — <0. 001 — —
Wk 7 = 7 - (mg/L) — — 0. 002 - —
= 3 Bl — — — — —
U3 Hife R fi% (mg/L) — — - — —
LL,I- F U 7 oo x X v (mg/L) — — <0.0001 — —
A F L —t-7 F L= — 5 L (MIBE) (mg/L) — —  <0.0001 — —
B O W E (T O N ) <1 <1 <1 <1 <1
e (7 7 U 7 ) — — — — —
Bt & 5 7= gt ({8 /mL) 0 4 13 18 25
L,L1I- ¥ 7 @ g x F L v (mg/L) — —  <0.0001 — -
e = P 3 il (MPN/100mL) — — — — —
£ Wb W B FEE K& (mg/L) — — — — —
= 17 fiz =3 (mg/L) — — — — —
7 - v D4 a (MPN/L) - - - - -
T & P 3 Ji (MPN/L) — — — — —
x iV B (MPN/100mL) 0 0 0 0 0
#EOfF M d# P OER (MPN/100mL) — — — — —
7 oy E = 7 B =B # (mg/L) — - — — —
71 % D2 74 N (mg/L) — — — — —
< 7 s g 7 VA (mg/L) — — — — —
I fii A 7 N (mg/L) — — 6 — -
kU »~Nwa X ¥ v Ak RE (mg/L) — — — — —
# 7 JL il ) E (mg/L) — - - -
B = = = R (mS/m) 9.5 9.4 9.2 9.6 9.7
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H28.9.26  H28.10.3 H28.11.9 H28.12.13 H29.1.10 H29.2.15 H29.3.14 AN %/ LY
<0. 0003 - - <0. 0003 - - <0. 0003 <0. 0002 <0. 0002 <0. 0002
<0. 0002 - - <0. 0002 - - <0. 0002 <0. 0002 <0. 0002 <0. 0002

<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001 <0. 001
<0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001
<0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001

<0. 001 - - - - - - - - <0. 001

<0. 06 - - 0. 06 - - <0. 06 0. 06 <0. 06 <0. 06

<0. 001 — — <0. 001 — — <0. 001 <0. 001 <0.001 <0. 001

<0. 001 - — <0. 001 — - 0.001 0. 002 <0. 001 <0. 001

<0. 001 — — — — — — — — <0. 001

0.9 - - - - - - - - 0.9
<0. 0001 - — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001
<0. 0001 — — <0. 0001 - — <0. 0001 <0. 0001 <0. 0001 <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1

-1.0 — — — — — — — — -1.0

2 29 2 0 0 0 4 29 0 8
<0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001 <0. 0001

0 0 0 0 0 0 0 0 0 0

12 - — - - - — - - 12

4.6 - - - - - - - - 4.6

4 — — 6 — — 7 7 4 6

55 - - - - - - - - 55

12.2 11.6 9.5 9.5 9.0 9.7 10.0 12.2 9.0 9.9
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3 KO KE R
(8] EARKEEFEFEN
(2) BLZE R O R A
@ Kl (KL kE%)

% K i H H H28. 9. 26 2 7K i H H H28. 9. 26
L3-vY Jewn7° waA’ v (DD (mg/L)| <0.0002 F 4 7 7 Fx — K A F L (mg/L)| <0.0001
2,2-DPAC &% 5 & > ) (mg/L)| <0.0002 F A+ X v 7 (mg/L)| <0.0001
2, 4-D (2, 4-PA) (mg/L)| <0.0001 > N 7 A 7 (QBPMC) (mg/L)| <0.0001
EPN (mg/L)| <0.00001 5 ) v =t =4 Jb (mg/L)| <0.00005
MCPA (mg/L)| <0.00005 U ¥ w g & v (DEP) (mg/L)| <0.00005
7 D o 5 2 (mg/L)|  <0.0001 KUY 75 Y — v (mg/L)| <0.0001
7 + 7 = — ; (mg/L)| <0.00005 KUz v Z U v (mg/L)| <0.0001
7 ~ 7 v v (mg/L)| <0.0001 oA -7 = A 3 F (mg/L)| <0.0001
7 = =t N 2 (mg/L)| <0.00001 =4 ~ =t N 2 (mg/L)| <0.00001
7 = b 7 2 (mg/L)| <0.00005 g Y % v 7 = v (mg/L)]| <0.00001
7 7 J 5 — b (mg/L)| <0.0001 IV YU R—F(EZYL— ) (mg/L)| <0.0001
4 Y % ¥+ F A& v (mg/L)| <0.00005 v Uy ¥ 7 = v F A4 ¥ (mg/L)]| <0.00001
4 v 7 = v & A (mg/L)| <0.00001 v Uy 7 F A 7 (mg/L)]| <0.0001
A4 v F wm H 7 (MIPC) (mg/L)| <0.0001 =4 = ¥ = v (mg/L)| <0.0001
A4 Y 7 v F F T v (IPT) (mg/L)]| <0.0001 7 4 - 2! = JV (mg/L)|<0.000005
A4 7 m N v &/ Z (IBP) (mg/L)| <0.0001 7 = = b+ v F F » MEP) (mg/L)| <0.0001
4 v % 2 7 57 v (mg/L)| <0.00005 7 = /J 7 H N 7 (BPMC) (mg/L)| <0.0001
= =2 Z wm H 7 (mg/L)| <0.0001 7 = v F A »  (MPP) (mg/L)| <0.00005
= ¥ 4 7 = v & A (EDDP) (mg/L)| <0.00005 7 x= v bk = — |k (PAP) (mg/L)| <0.00005
= b 7 = v 7 v v 7 A (mg/L)] <0.0001 7 = v b 7 ¥ I K (mg/L)| <0.0001
T hYPTY = (=AY =) (mg/L)| <0.00001 4 VA 7 A F (mg/L)| <0.0001
T RALT 7 (RN EY) (mg/L)|  <0.0001 va v 7 & — v (mg/L)|  <0.0001
4+ % B Y 7 v A & ¥ (mg/L)]| <0.0001 7 v 3 = % (mg/L)| <0.0001
x> v 8 (fF B 8 ) (mg/L)| <0.0001 7 7 w7 = ¥ v (mg/L)| <0.0001
4+ U # x + v v r (mg/L)| <0.0001 7 JL 7 v A A (mg/L)|  <0.0001
Vi = v N 2 (mg/L)| <0.00001 7 v F 7 7 v — J (mg/L)| <0.0001
h 7 = v A k m — J (mg/L)| <0.00005 VA =t V2 3 K > (mg/L)| <0.0001
B A y b (NAC) (mg/L)| <0.0001 VA =t ¥ 7+ ) A (mg/L)| <0.00001
Y/ VR S = A NN R (mg/L)| <0.0001 7 v ¥ a2 F v — L (mg/L)| <0.0001
7 % R 7 Vi v (mg/L)] <0.00005 -7 = = i N K (mg/L)[ <0.0001
* 7 5 3 »  (ACN) (mg/L)| <0.00005 7 v X Y — L (mg/L)| <0.0001
* ¥ 7 v v (mg/L)| <0.0001 v = £ 7 ¥ K (mg/L)[ <0.0001
4 N IV =t v (mg/L)| <0.0001 ~ J N JL (mg/L)|  <0.0002
7 wm A 7wy 7 (mg/L)| <0.0001 ~ N v 4 = v (mg/L)| <0.0001
7y v = kv 7 = v (CNP) (mg/L)| <0.00001 N v Y v v 7 ooam v g/ <0.0001
7 w v U & Z (mg/L)| <0.00001 ~ v v 7 = F v 7 (mg/L)| <0.00001
7 m v % v = A (TPN) (mg/L)| <0.0001 ~ N v v v (mg/L)| <0.0001
V2 7 + v v (mg/L)| <0.00001 N F 0 A &2 U v (mg/L)| <0.0001
¥ 7 J & A (CYAP) (mg/L)| <0.00001 Ny 7 Z7  H v 7 (mg/L)| <0.0001
v 7 = v (DCMU)  (mg/L) [ <0.0001 Ry TN F ) v (RAaPr) (mg/L)]  <0.0001
v s =m < = 2 OBV (mg/L)| <0.0001 ~ v 7 L & —  (mg/L)| <0.0001
v s m A A % (OOVP) (mg/L)| <0.00005 A A2 F 7 ¥  — b (mg/L)| <0.00001
VALK (=TT A A ) (mg/L)| <0.00001 ~ 7 FF v (= Z7 YV v) mg/L| <0.0001
¥ ¥ %+ =y L (mg/L)| <0.00005 A a 7 wm v 7 (MCPP) (mg/L)[ <0.0001
oo v s v 7 7 F s (mg/L)| <0.00005 A >V 2 sV (mg/L)|  <0.0001
v ~ v N (CAT) (mg/L)| <0.00001 A v Z ¥ v L (mg/L)|  <0.0001
A F U > (mg/L)| <0.0001 A F H F 4 »  (OMTP) (mg/L)| <0.00001
v A k = — k (mg/L)| <0.0001 A F A X 4 A m v (mg/L)| <0.0001
v A ~ U > (mg/L)| <0.0001 A K I 7 2 F m B v (mg/L)| <0.0001
Y A~ L — b (mg/L)| <0.00001 A b Yj 7 Y v (mg/L)|  <0.0001
vl A 7 ¥ J > (mg/L)| <0.00001 A 7 = F By k (mg/L)| <0.0001
v A N =t > (mg/L)| <0.0001 A 7 o = Jb (mg/L)| <0.0001
¥ 7 v = b (mg/L)|  <0.0001 £ i = — L (mg/L)| <0.00005
- v 7 A (mg/L)[ <0.0001
7 7 D4 7 JL 7 (mg/L)] <0.0001
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% K i H H H28. 9. 26 2 7K i H H H28. 9. 26
EPN % * 4 > (mg/L)| <0.00001 F T A % ¥ A (mg/L)| <0.0001
A4 Y % ¥ F F v 4 F Y (mg/L)]| <0.00005 ¥ 4 v : 3 K (mg/L)| <0.0001
A4 Y 7 = vk A A F Y (mg/L)]<0.000005 7 b7 7 Lk A (CWP) (mg/L)| <0.0001
= » K Z2 A 7 = — b (mg/L)| <0.0001 > ~ 5 =@ F ¥V — s (mg/L)| <0.0001
CNP- 7 N J & (mg/L)|<0. 000001 > 7 7 = /¥ F (mg/L)| <0.0001
7 o)L ¥ U KR A4 F Y v (mg/L)| <0.00001 YU X FH Xy s = F N (mg/L)| <0.0001
2 4 7T Y ) v F F Y v (mg/L)| <0.00001 Uo7 oo 2 Y — b (mg/L)| <0.0001
7=t FAF A F Y (mg/L)| <0.00005 > 75 v 7 = K (mg/L)[ <0.0001
MPP 2 L A F ¥ K (mg/L)| <0.00005 = va N 5 2 (mg/L)|  <0.0001
MPP 2 JL N v (mg/L)| <0.00005 Ny v 7 5 Y — L (mg/L)|  <0.0001
MPP %+ ¥ Vs > (mg/L)| <0.00005 = A k v > (mg/L)| <0.0001
MPP A % ¥ ¥ 2 )L & F ¥ K (mg/L)| <0.00005 I Y 207 u rx F o (mg/l)|  <0.0001
MPP F % Y v Z & v (mg/L)| <0.00005 U RNy 7 A F L (mg/L)]| <0.0001
7 % I &K A 4 % YV v (mg/L)| <0.0001 Y 2 ks A A F L (mg/L)| <0.0001
7 v ® 7 F K F 7 v EF (meg/L)] <0.0001 7 7 A = JL (mg/L)| <0.0001
~ 7 F F v F F Y v (mg/L)| <0.0001 7 N 7 ¥ & v 7 (mg/L)| <0.0001
7 w2 = o (DCPA) (mg/L)| <0.0001
7 v ox I 7 Y K (mg/L)| <0.0001 va o s N 2 (mg/L)| <0.00001
4 X &% 7 v 7 U F (mg/L)| <0.0001 7 m % L ¥ v b (BPPS) (mg/L)| <0.0001
F 7 @ F v — b (mg/L)| <0.0001 7 v A& ¥ X o (PHO) (mg/L)| <0.0001
=4 Z 4 = N 2 (mg/L)| <0.0001 v = A U v (mg/L)| <0.0001
7 v %2 A 7 7 2 F (mg/L)| <0.00001 N Z A4 F v T (mg/L)| <€0.00005
7 =t < 2 b (mg/L)| <0.0001 2 ¥ V2 2 (mg/L)| <0.00001
~ v b F ¥V v (mg/L)| <0.0001 N 2 b U F (mg/L)| <0.0001
gz + = v (mg/L)| <0.0001 £/ 7 v b K A (mg/L)| <0.00001
A 5z v — b (mg/L)| <0.0001 y = o o v (mg/L)| <0.0001
7 YN Y T -S- A F L (mg/L)| <0.0001 VA A o v 2 (mg/L)| <0.0001
7 A k ) > (mg/L)| <0.0001 A 7 = I > (mg/L)| <0.0001
4 F X T g R (mg/L)| <0.0001 Y = = ks 7 (mg/L)| <0.0001
A4 ~ Y 2 A 7 v r (mg/L)]| <0.0001 v a o = > (mg/L)| <0.0001
v = @ F Y — o P (mg/L)| <0.0001 7 = N 7 v — b (mg/L)] <0.0001
= K ¥ ¥ 2 1 7 v ¥ (mg/L)| <0.0001 A= A F v (mg/L)| <0.0001
= F X B = F (mg/L)| <0.0001 N|m ZX gy 7 v v A F g (mg/L)| <0.0001
F X Y 7 X A (mg/L)| <0.0001 v g = )y 7 Z (mg/L)[ <0.0001
*+ ¥ Va 2 Jb (mg/L)| <0.0001 vy 7 e ¥ ¥ 7 = v (mg/L)| <0.0001
* ¥ e KX v F = F o (mg/L)| <0.0001 7 5 ¥ =z 7 v v (mg/L)| <0.0001
7 v F 7 = ¥ v (mg/L)| <0.0001 4 L k = v (mg/L)|  <0.0001
7 wm < 7 = / ¥ F (mg/L)| <0.0001 ~ ) F (SAP) (mg/L)| <0.0001
7 a )y F— )L A F )L (TCTP) (mg/L)| <0.0001 N A 7 v v A F )L (mg/L)| <0.0001
s v b ¥ U R A A F b (mg/L)| <0.0001 N * ¥ b (mg/L)|  <0.0002
Y7 v 7 x v F F > (BCP) (mg/L)| <0.00005 FZ R ZAFALFFY L (mg/L)| <0.0001
v 7 =] A v v (mg/L)| <0.0001
Y s w A 7 v v 7 (mg/L)| <0.0001 > % ¥ 7 Y v (mg/L)]| <0.0001
v ) Z o 7 v v (mg/L)| <0.0001 s 1w A b x% ¥ = Jv (mg/L)| <0.0001
v J 7 4 5 v (mg/L)| <0.0001 FUZaEL-2-T7 FF L= F 0 (mg/L)| <0.0001
Y 7 = J =a F vV — L (mg/L)| <0.0001 = + wB 7 > (NIP) (mg/L)| <0.0001
v o7 o X v X m v (mg/L)| <0.0001 v =t 2 v v (mg/L)| <0.0001
v 7 m o= F Y — 5 (mg/L)| <0.0001 2- 7 b+ % % — bk (mg/L)| <0.0001
v v = v = L (mg/L)|  <0.0001
v X = 5 Y — L (mg/L)| <0.0001
Y XA F v v K A (mg/L)| <0.0001
¥ 5 7 A F 7 = v (mg/L)| <0.0001
v N A ¥ ) v (mg/L)| <0.0001
5 7 7 v 7 ¥ N (mg/L)| <0.0001
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